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English Language

Directions (1-5): In the passage given below there are blanks which are to be filled
with the options given below. Find out the appropriate word in each case which can
most suitably complete the sentence without altering the meaning of the statement.

Insolvency and Bankruptcy Board of India was set up on 1st October 2016 under the
Insolvency and Bankruptcy Code, 2016 (Code). It is a unique regulator: .......... (1) a
profession as well as processes. It has regulatory oversight over the Insolvency
Professionals, Insolvency Professional Agencies and Information Utilities. It writes and
........... (2) rules for transactions, namely, corporate insolvency resolution, corporate
liquidation, individual insolvency resolution and individual bankruptcy under the Code. It is a
key pillar of the ecosystem responsible for ........... (3) of the Code that consolidates and
amends the laws relating to reorganization and insolvency resolution of corporate persons,
partnership firms and individuals in a time bound manner for ........... (4) of the value of
assets of such persons, to promote entrepreneurship, availability of credit and balance the
interests of all the ............ 5)

Q1.

(a) runs

(b) revolutionizes
(©) enhances

(d) implements

(e) regulates

Show Answer

S1. Ans.(e)

Sol. regulates- control or maintain the rate of speed (of machine or process) so that it can
operate properly

Q2.

(@) forms

(b) enforces
(©) executes
(d) regulates

(e) updates

Show Answer

S2. Ans.(b)

Sol. enforces- compliance with

Q3.

(@) renewal

(b) running

(c) implementation
(d) execution

(e) programming
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Show Answer
S3. Ans.(c)
Sol. implementation- the process of putting a decision or plan into effect

Q4.

(@) minimization
(b) increment

(c) greatness

(d) maximization
(e) lowering

Show Answer

S4. Ans.(d)

Sol. maximization- the act of making something as large or great as possible

Q5.

(a) stakeholders
(b) ventures

() citizens

(d) partners

(e) professionals

Show Answer
Sb5. Ans.(a)
Sol. stakeholders- a person with an interest or concern in something, especially a business

Directions (6-10): In each of the questions given below a sentence is given with one
blank. Below each sentence FIVE words are given out of which two one fit the blank.
You have to choose the correct word which can fit in the given sentence.

Q6. The announcement came after the commission found that the electoral process
........... on account of unlawful activities of the candidates and political parties and
their workers in planning to allure voters through distribution of freebies.

(@) validated
(b) nulled

(©) vitiated
(d) damaged

(e) contaminated

Show Answer
S6. Ans.(c)
Sol. vitiated- violated

Q7. This led to a heated exchange of words between the two groups, and a vehicle
each of the two groups were ..
€)) spoiled

(b) demolished
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(c) destructed
(d) shattered
(e) damaged

Show Answer
S7. Ans.(e)
Sol. damaged- suffered a damage

Q8. According to an insider, there was no need to take a stance so early, especially in

a by-election where the  final outcome was ... SO far.
€) prophesized
(b) unpredictable
(c) fantasized

(d) imagined

(e) incredible

Show Answer
S8. Ans.(b)
Sol. unpredictable- that which can't be forecasted

Q9. According to forensic experts who conducted the post mortem, Roy had a bullet
injury on his upper palate and skull. Since it was a close shot, the bullet had ..........

from the skull.
(@) escaped

(b) eloped

(©) avoided

(d) hidden

(e) passed

Show Answer
S9. Ans.(a)
Sol. escaped- to get away from

Q10. If they want they can arrest me, and we can go to court to prove that | haven’t

.......... the law. But I am going home.
(@) bifurcated

(b) formulated

(©) broken

(d) besieged

(e) benign

Show Answer
S10. Ans.(c)
Sol. broken- fragmented in separate pieces

Directions (11-15): Rearrange the following five sentences (A), (B), (C), (D) and (E) in
the proper sequence to form a meaningful paragraph and then answer the questions
given below.
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(A) The Reserve Bank of India might have to increase interest rates to contain inflation and
step in to check the fall in the rupee’s value
(B) The impact on India will be severe. The price of crude is already close to $80
(C) But may have to face consequences of inflation and attendant factors in its fifth
(D) Energy imports from Iran will become difficult and expensive. Fuel prices will go up
(E) All this might have a direct bearing on politics, given the fact that the government was
the beneficiary of low crude price for the first four years

Q11. Which of the following would be the FIRST sentence after the rearrangement in
the correct sequence?
(a)
(b)
()
(d)
(e)E

oOO>w

Show Answer
S11. Ans.(a)
Sol. BDAEC is the correct sequence; B

Q12. Which of the following would be the SECOND sentence after the rearrangement
in the correct sequence?
(a)
(b)
(c)
(d)
(e)C

mX> @O

Show Answer
S12. Ans.(a)
Sol. D

Q13. Which of the following would be the THIRD sentence after the rearrangement in
the correct sequence?
(a)
(b)
(c)
(d)
(e)C

owm >

Show Answer
S13. Ans.(a)
Sol. A

Q14. Which of the following would be the FOURTH sentence after the rearrangement
in the correct sequence?
(a) C
(b) D
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(©)
(d)
(e) B

m >

Show Answer
S14. Ans.(d)
Sol. E

Q15. Which of the following would be the FIFTH sentence after the rearrangement in
the correct sequence?

(a) A

(b)B

(c)C

(d)D

(e)E

Show Answer
S15.Ans.(a)
Sol. C

Direction (1-5): In each of the questions given below a sentence is given which is
then divided into five parts out of which last part is correct. There are errors in three
out of four remaining parts and therefore only one of the parts (other than the bold
one) is correct. You must choose the grammatically correct part as your answer.

Q1. The employees presents their viewpoint on the pending issues(A)/, included the
constitution of the pay revision commission(B)/, the first after the form of the State(C)/,
transfers & promotions and restoration of the old pension scheme(D)/ in place of the
contributory pension scheme before the committee(E).

(a) D

(b) B

(c)C

(d) A

(e) None of the above

Show Answer

S1. Ans.(a) Sol. "The employees presented their viewpoint on the pending issues, including
the constitution of the pay revision commission, the first after the formation of the State,
transfers & promotions and restoration of the old pension scheme in place of the
contributory pension scheme before the committee™: The part (A) of the sentence has the
subject plural in it which will take plural verb with it .i.e.'presented'. In part (B) of the
sentence, preposition'including’ will replace the 'included’. Part (C) of the sentence will
take the correct noun .i.e.‘formation'. Thus, only the part (D) is correct apart from being
bold one.

Q2. The employees also complaining about the(A)/ lackadaisical attitude of the(B)/ officers
concerns(C)/ to the implementation(D)/ of the employees health scheme(E).
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(@) A
(b)B
(C
(d)D
(e) None of the above

Show Answer

S2. Ans.(b) Sol. "The employees also complained about the lackadaisical attitude of the
officers concerned in the implementation of the employees’ health scheme": In

part (A),'complaining’ will be replaced by the verb ‘complained'. Part (C) of the sentence
has plural subject, hence the following verb will also be plural .i.e. ‘concern’. Part (D) will
take correct preposition .i.e. ‘in" in place of 'to’. Thus, only the part (B) is correct apart from
being bold one.

Q3. The offence taken place on Wednesday evening(A)/ when the girl is(B)/ alone in her
house. The girl was(C)/ taken to the government hospital here(D)/ doctors confirmed the
offence(E).

(a) A

(b) B

(c)D

(d)yC

(e) None of the above

Show Answer

S3. Ans.(d) Sol. "The offence took place on Wednesday evening when the girl was alone in
her house. The girl was taken to the government hospital where doctors confirmed the
offence": In part (A) of the sentence, the subject will be followed by the second form of verb
as the rule says. Part (B) has error in the form of tense .i.e. past of tense will come
d.e.'was'. In part (D), 'where' should replace 'here'. Thus, only the part (C) is correct apart
from being bold one.

Q4. When she started screaming(A)/, Ramanamma on the help(B)/ to villagers(C)/ rush to
the spot(D)/ and saved the girl(E).

(a) C

(b)B

(c) A

(d)D

(e) None of the above

Show Answer

S4. Ans.(c) Sol. "When she started screaming, Ramanamma with the help of villagers
rushed to the spot and saved the girl": In part (B), 'in' will get replaced by ‘'with' which is the
correct usage of the preposition. Similarly, 'of* will replace 'to" in part (C). In part (D), 'rush’
will get replaced by ‘rushed’ as the given sentence is in past form of tense. Thus, only the
part (A) is correct apart from being bold one.

Q5. However, the court says(A)/ that an interim order could(B)/ passed only(C)/ after have a
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comprehensive(D)/ hearing on the petition(E).
@A

(b)B

(c)C

(d)D

(e) None of the above

Show Answer

S5. Ans.(c) Sol. However, the court said that an interim order could be passed only after
having a comprehensive hearing on the petition: In part (A), 'said’ will get replaced by 'says'.
In part (B), ‘could’ will be followed by 'be' as modal can only be followed by the first form of
the verb. In part (D), 'having' will replace 'have'. Thus, only the part (C) is correct apart from
being bold one.

Directions (6-10): In the passage given below there are blanks which are to be filled
with the options given below. Find out the appropriate word in each case which can
most suitably complete the sentence without altering the meaning of the statement.
Mr. Naidu on Friday said that the government would act (6)......... to prevent

such (7)......... The Dachepalli one should be the last in the State. The government would
take (8).......... measures against rapists. The entire State was under drone and CC camera
surveillance. It was (9).......... that the YSR Congress Party was (10)........ the incident for
political mileage, he said.

Q6.

(a) confirmly
(b) strangely
(c) strictly
(d) firmly

(e) hardly

Show Answer
S6. Ans.(d) Sol. firmly- strongly

Q7.

(a) incidents
(b) accidents
(c) happenings
(d) occurred
(e) deeds

Show Answer
S7. Ans.(a) Sol. incidents- event or occurrences

Q8.

(a) free
(b) hard
(c) strong
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(d) weak
(e) stringent

Show Answer
S8. Ans.(e) Sol. stringent- strict

Q9.

(a) fortunately
(b) unfortunate
(c) shocking
(d) annoying
(e) confusing

Show Answer
S9. Ans.(b) Sol. unfortunate- unluckily

Q10.

(a) identifying
(b) stating

(c) utilized

(d) using

(e) recognizing

Show Answer
S10. Ans.(d) Sol. using- utilization

Directions (11-15): In each of the questions given below an incomplete sentence
which must be filled/completed with one of the sentences given below. Choose the
correct option and complete the given sentences.

Q11. Sharp showers accompanied by strong gale improved the conditions of the
areaplantain and arecanut trees in Senthamangalam block on Wednesday.

(a) created a havoc on

(b) wrecked the buildings along with

(c) damaged a large number of

(d) proved to be a catastrophe on

(e) No correction required

Show Answer
S11. Ans.(c) Sol. 'damaged a large number of'- as the storm that had come damaged the
plantations and trees of the mentioned area.

Q12. This affected the flow of traffic for about four hours. Traffic was diverted via
alternative route.

(a) the pedestrians

(b) the passers by

(c) the traffic jam
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(d) the flow of travellers
(e) No correction required

Show Answer
S12. Ans.(e) Sol. No correction required

Q13. Drivers, attendants and employees had been dancing in the recent past with liquor
bottles in trains despite regular announcements that consumption, sale and trade of liquor in
the State is illegal.

(a) had been searching

(b) have been caught

(c) have been performing criminal offences

(d) had been hurting the sentiments of people

(e) No correction required

Show Answer
S13. Ans.(b) Sol. 'have been caught'- as the context of the statement is about catching the
people with the liquor bottles in the train which is illegal.

Q14. The police have overlooked security arrangements in view of PM’s visit.
(a) has finished

(b) had improved

(c) have made elaborate

(d) have validated

(e) No correction required

Show Answer
S14. Ans.(c) Sol. 'have made elaborate'- as the arrangements made were the elaborate
one.

Q15. The Delhi High Court has ruled that no shopping can be carried out in Capital’s
posh Connaught Place which may have the effect of damaging or altering the character of
its heritage building status.

(a) no security arrangements will be made

(b) passive smoking will be prohibited

(c) strong rush of people will be restrained

(d) no repairs or alterations can be carried out

(e) No correction required

Show Answer
S15. Ans.(d) Sol." no repairs or alterations can be carried out'- as mentioned in the
sentence, buildings of the place are old of which repairs or alterations can’t be made.



